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السؤال الأول:

 مما يلي بالصيغة الأسية:
ً
 اكتب كلا

①   3 × 3 =

②   𝑓 × 𝑓 × 𝑓 × 𝑓 =

③   −2 × −2 × −2 × −2 × −2 =

السؤال الثاني:

 مما يأتي بالصيغة القياسية، وأجد قيمته:
ً
 اكتب كلا

①   34 =

②   (−1)4 =

③   80 =

④   103 =

⑤   (−3)4 =

⑥   (−5)3 =

⑦   (−10)0 =

⑧   (−10)1 =
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السؤال الأول:

 مما يلي بالصيغة الأسية:
ً
 اكتب كلا

①   3 × 3 = 32

②   𝑓 × 𝑓 × 𝑓 × 𝑓 = 𝑓4

③   −2 × −2 × −2 × −2 × −2 = (−2)5

السؤال الثاني:

 مما يأتي بالصيغة القياسية، وأجد قيمته:
ً
 اكتب كلا

①   34 = 3 × 3 × 3 × 3 = 81

②   (−1)4 = −1 × −1 × −1 × −1 = 1

③   80 = 1

④   103 = 10 × 10 × 10 = 1000

⑤   (−3)4 = −3 × −3 × −3 × −3 = 81

⑥   (−5)3 = −5 × −5 × −5 = −125

⑦   (−10)0 = 1

⑧   (−10)1 = −10




